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Set of transport chains that
Assumption: Bi and Bk are the last and first batches from PO 11 and PO |12, respectively, to be produced directly behind cannot run in parallel.
each other at every production line. At PL, PO |1 1akes silo A and PO 12 takes silo B. For illustration, also PO 13 is
considered; to be produced on the same PL.
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search for a non-contaminating feasible PO [ with minimum
completion time between POs Iy and [»

Fransen Gerrits de Rips Transport Routes Map PLs to Silos ({'GML": 'blue’, 'CS': ‘grey’, 'BW': 'red’, 'Trl": 'green’, 'Tr2': 'gold’, 'PL': 'brown’, 'Silo’: ‘purple’})
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From 2017-02-11 00:00:00 to 2017-02-11 02:45:00 (18706.425)
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From 2017-02-11 00:00:00 to 2017-02-11 02:45:00 (17287.9735)
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